Techo 0,7 0,5 0,7 0,5
Muros 07 05 03|05 0307 05 03| 05 03
Piso 0.3 0.1
EJEMPLOS DE LUMINARIAS T
K
< 06 |0B0 055 054|060 055|061 056 078|069 056068
) og |069 064 064|070 065|070 065 O0B7|072 066|075
< 1 _|075 o070 070|076 071|077 071 093|079 072|080
= 125|081 076 075|082 077|083 078 097|086 079|084
= 15 |084 079 079|086 081|087 082 0 090 083|087
(Uj 2 089 085 0B84 |09 086|093 088 102|097 090|090
= 25 |082 088 OB7 |054 090|097 0852 104|102 096|093
o 094 091 0890|097 093|100 085 105|106 100|095
] 4 087 0893 094|089 097|104 100 106|111 105|097
5 089 09 085|100 0898|1068 102 106 | 1,14 109 | 088
O 06 |093 074 070|074 089|089 073 070|072 088|082
o o8 |101 082 077|081 076|094 078 077|080 076|093
§§< 1 105 083 082|086 082|098 083 082|084 081|100
=9 125|110 09 088|091 087|101 090 085|088 085|108
Z o 15 | 113 097 092|094 090|103 093 089 092 088109
c"'jz 2 1,17 103 097|099 095|105 087 093|095 092114
g< 25 | 120 107 101|103 098|105 099 096|097 094 [ 117
o) 3 1,21 1,10 105105 100 1,06 100 098|088 096120
o 4 1,24 115 1,10 (108 103|106 102 100|100 098123
5 125 1,97 1,13 11,10 1,08 1,07 1,03 1,01 | 1,01 099 1,24
06 |072 048 042 | 047 042|068 047 041|047 041 | 040
08 (0B5 0861 054|059 O, 080 059 053|058 052|052
1 094 069 062|067 061|087 087 061|065 0, 059
< 125|101 078 071|075 069|092 075 068|073 0868|0866
5 15 | 105 083 075|080 074|096 080 073|077 072|071
L 2 1,11 091 084|087 081 1 086 080|084 079|078
& 25 (115 087 090|092 0871, 081 085|088 083
() 3 1,18 102 09 |09 091 1,04 094 089|091 087
4 1,21 1,09 102|102 096 1,05 097 094 |09 09
5 1,23 1,12 1,06 | 1,04 100 1,06 1,00 096 | 097 094
06 |063 039 032|039 033|081 038 0234|037 033
08 |(078 053 045|051 045|074 051 045|050 045
< 1 0B8 062 054 |0B0 054|082 060 053|058 053
bs 125|095 071 063|068 062|088 068 062|066 0860
D5 1,5 |102 078 070|076 069|083 075 088|072 0868
xS 2 1,10 089 081|085 078 098 083 077|080 077
= 25 |174 096 O0B8|091 085|101 089 083085 082
& 3 1,17 1,01 094|095 089103 082 087|088 088
4 1,21 1,07 1,01 | 1,00 095 1,04 0O 092 | 093 090
5 1,23 1,12 1,06 |1,03 098|105 099 095|096 093
06 (081 036 029|035 020|058 033 029|035 029
<C 08 |074 047 039|045 038|069 046 039|045 028
= 1 082 055 0468|052 045|077 053 045|051 044
) 125|089 083 054 (081 053|082 081 053|059 053
= 15 |09 089 0860|066 059|087 067 059|064 057
= 2 1,02 0,79 070|075 068|092 075 0867|072 085
> 25 | 108 087 078|081 074|096 081 073|077 072
u 3 1,13 093 084 (086 079 099 085 078|081 078
4 1,17 101 092|094 087|102 09 085|088 083
5 1,18 104 096|095 090|102 093 087|089 085




